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QUESTION NO: 1

(single) Which of the following is incorrect about DHCP description?

A. The packets exchanged by the DHCP normal acquisition address are Discover, Offer, Request, and ACK.

B. The DHCP server does not allow multiple simultaneous presences in the network, because multiple servers can answer 
at the same time, and the client cannot select an address.

C. If the client discards the IP address currently in use, she uses the DHCP RELEASE message to notify the server that the 
server will reclaim this address for future use.

The discovery packet between the DHCP relay agent and the DHCP server is a unicast packet.

ANSWER: B 

QUESTION NO: 2

(multiple) The MA5680T uses the template to configure the GPON ONT template. What are the templates to be configured?

A. DBA template

B. GPON ONT line template

C. GPON ONT service template

D. GPON ONT capability template

ANSWER: A B C 

QUESTION NO: 3

(multiple) What do I need to configure when adding the ont-lineprofile to the MA5680T?

A. Configure the vlan of the ONT ETH port.

B. Add DBA template

C. Binding tcont and DBA templates

D. Increase gemport and configure gemport mapping
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ANSWER: C D 

QUESTION NO: 4

(multiple) What are the actual line rates of ADSL services affected?

A. Line length

B. Wire diameter

C. Interference

D. Wiring situation

ANSWER: A B C D 

QUESTION NO: 5

(single) Is the following description correct? A route with a mask of 0.0.0.0 cannot exist on a route in the routing table.

A. True

B. False

ANSWER: B 

QUESTION NO: 6

(single) The MA5680T supports the QinQ and VLAN stacking attributes. Which of the following VLANs supports the QinQ 
attribute?

A. Common vlan

B. super vlan

C. sub vlan

D. smart vlan

ANSWER: D 
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QUESTION NO: 7

(single) How many slots can be inserted into the service board when the MA5600 service box provides pure broadband 
services?

A. 12

B. 14

C. 16

D. 18

ANSWER: B 

QUESTION NO: 8

(multiple) The UA5000 uses the supervlan command to add multiple sub VLANs to a super VLAN. Which VLAN types can be 
used for the Sub VLAN?

A. super vlan

B. standard vlan

C. mux vlan

D. smart vlan

ANSWER: B C D 

QUESTION NO: 9

(single) Is the following description correct? 1483B encapsulates the MAC data frame on AAL5, and 1483R encapsulates the 
IP data frame on AAL5.

A. True

B. False

ANSWER: A 

QUESTION NO: 10
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(single) Is the following description correct? The transmission form of the LAN is generally based on the bus type. The most 
commonly used corresponding protocol is the carrier sense and collision detection CSMA/CD protocol.

A. True

B. False

ANSWER: A 

QUESTION NO: 11

(multiple) Which of the following reasons may cause a voice user to pick up the phone without a dial tone?

A. External line failure

B. Device port hardware failure

C. No voice file loaded

D. Data error

ANSWER: A B C D 

QUESTION NO: 12

The vlan of the user side is usually converted to vlan on the MA5680T service board. What are the vlan conversion 
methods?

A. transparent

B. translate

C. add-double

D. translate-and-transparent

ANSWER: A B C 

QUESTION NO: 13

(single) What message does the H.248 Media Gateway send to the MGC to register?

A. Add
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B. RSIP

C. SVC_CHG_REQ

D. Notify

ANSWER: C 

QUESTION NO: 14

(multiple) Which control frame messages are defined by MPCP?

A. GATE

B. REPORT

C. REGISTER

D. REGISTER ACK

ANSWER: A B C D 

QUESTION NO: 15

(single) Which layer does the ATM protocol work on?

A. Physical layer

B. Link layer

C. Network layer

D. Transport layer

ANSWER: B 
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